

* Implicit DifferentiationEx 1 Describe the following equations:

$$y = e^x$$

$$y = \sin(x) + x^2 + 10$$

$$y = x^2 - x + 5$$

Solution: In the above equation, we notice that y is given explicitly in terms of x .

Ex 2 Describe the following equations:

Part a: $x^2 + y^2 = 16$

Part b: $x^2 y^3 + \frac{1}{y} - 3 = x$

Solution: Part a: y is given implicitly in terms of x .

$$y^2 = 16 - x^2 \Rightarrow y = \pm \sqrt{16 - x^2} \text{ so, } y' = \frac{-2x}{\pm 2\sqrt{16 - x^2}}$$

Part b: y is given implicitly in terms of x .

Ex3 Given $x^2 + y^2 = 16$, then differentiate both sides with respect to x in order to find y' .

Solution: $x^2 + y^2 = 16$

$$2x + 2y \cdot y' = 0$$

$$\cancel{2y} y' = \frac{-2x}{\cancel{2y}} \Rightarrow \boxed{y' = \frac{-x}{y}}$$

Notes

$$(y^2)' = 2(y)^1 \cdot y'$$

$$= 2y \cdot y'$$

$$(y^3)' = 3y^2 \cdot \underbrace{(y)'}_{\frac{dy}{dx}}$$

$$(x^3)' = 3x^2 \cdot \underbrace{(1)}_{\frac{dx}{dx}}$$

Ex4 Find y' by differentiating both sides with respect to x for: $y^3 + xy = 5x$.

Solution: $y^3 + xy = 5x$

$$3y^2 \cdot y' + (xy' + 1 \cdot y) = 5$$

$$3y^2 \cdot y' + xy' = 5 - y$$

$$y'(3y^2 + x) = (5 - y)$$

$$\text{So, } \boxed{y' = \frac{(5 - y)}{(3y^2 + x)}}$$

* Derivatives of Trig. Functions: (look at Handout # 7)

Ex5] Find y' for $y = \sin(\tan x)$.

Solution: $y' = \cos(\tan x) \cdot \sec^2 x$

Ex6] Find y' for $g(x) = \sqrt{\sin^2 x + 1}$.

Solution: $g(x) = (\sin^2 x + 1)^{1/2}$

$$g'(x) = \frac{1}{2} (\sin^2 x + 1)^{-1/2} \cdot (2 \sin x \cos x)$$

$$g'(x) = \frac{\sin x \cos x}{\sqrt{\sin^2 x + 1}}$$

Ex7] Find y' for $y = x^2 \sec^4(3x)$. Product Rule

Solution: $y' = 2x(\sec^4(3x)) + x^2(4\sec^3(3x) \cdot \sec(3x)\tan(3x) \cdot 3)$

$$y' = 2x\sec^4(3x) + 12x^2(\sec^4(3x)\tan(3x))$$

Ex8] Find y' for $y = \ln(\tan x)$.

Solution: $y' = \frac{\boxed{\quad}'}{\boxed{\quad}} = \frac{\sec^2 x}{\tan x}$